b 7.f(x) =3x> + 2x;yes 8. f(x) =

. ,chapter 5 Answers (continued)

Q...’.9..9.'90‘0..“..'.t‘.’.IC...0..‘O...'i"!l&.!."‘i'.Q" & @ 08

-1+ V61 421+£\/-431+M

10
3L V183 455+i\/71 46. —

: 41.

44, ~1 47.4,2

::’,’,43 3+ \/— 49. No; When p = 4000, the discriminant is

© negative, 50 there are no real solutions. 50.3,—-1 .

o R 524—2 5 6+\/—141a39

5473 4id”\[fn’r ~117 55 -4 55

”'5?.»—32 58.16, 3. 590—~

SO e L] 3i V2 079 370 a12+\f373027

sz. —1-3—-“—32—@ 125, 061 63.7,~5 64—

Reteachmg 5— :

U 4 f(x) = 2527 + 40x + 16;yes 2y-—3xuo
C 3.y = —1lx +24no 4.g(x) = x% — 49;yes

5. f(x) = —x? + 9;yes 6. glx) = x2 yes - '

9f{x}—4x2+5x‘yes 10y—8x+8ne
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4.(2¢ - Dx — 5) 5.(x + Dix —4) 6
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Reteachmg 5-3

- 1 __:_,f e P D Yo o B
5.y—(x+2) , ~6.y, (x+2)"”ﬂ”4,
7y_4(x+1)2—7 8y ~(x+6)2-27

g, - ;
9y"“2<x“§) +5 10y =x*—6x+10

My =22 4 — 1 G 3 2 24x 3 47
Reteachmg 5-4 - s
e+ 4x+2) 2. —3)x—= 1} 3_2(x = 2)(,6 _ 1)
(2x + 5)(2x + 3)

7.x + 2)(x — 7) 8. (Tx +2x ;
10.Qx + D + 1) Mfx+ O + 3)

2.2 -2 -7 Bz =5x+2)

14. (2x + D(x + 4y 15.(Gx = 1)(3x - 1)

16.(x — Dix — 9) 17. (x+6}(x—-2}
18.(x + 5)x +2) 19.(x — 6){x = 2)
20.(2x + D(x — 3) 21.(x — 1)
22.(3x — 4)(x + 2) 23. (2 + 1)(‘;: + 3}»‘_».:--""3
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